Exam Name : Economics HNGU

Total Questions : 100
Description
Q.1 Primary deficit is

ylel[Hs wWid 2ed

Question ID:

Marks 1 10091952
No Options Details Correct Option
1 | Fiscal deficit - Interest payment As12ALL WL - c1%ei] YsaRll v
2 | Revenue deficit - Interest payment HeYel WLE - closel] Ysaull
3 | Budget deficit - Interest payment Ve UA LY VL - e |oel] Ysaull
4 | Revenue receipt - Interest payment Heydl Alds - leret] Ysarll
Q.2 In the Mundell- Fleming model, which policy is effective to influence aggregate income under floating

exchange rate ?

H3d SAM0L 113 MU R, URAd-12(l4 ([alAHueR vidold 56 o{l[d AHAGE]] AIdSsA HU USIURZ B ?

Question ID:
Marks 1 10091953
No Options Details Correct Option
1 | Fiscal policy AwsNIY «illd
2 | Monetary Policy o 1BLLS|Y «il[cdl v
3 | Exchange rate policy [aldHy €2 «ll[d
4 | None of the above WG Hll A5 UL slel
Q.3 Which financial institution is responsible for development of small and micro industries in India ?
HIRAUL tloll WA Y& GEANetL [AsIY HIR 58 ARl FAHLR B ?
Question ID:
Marks 1 10091954
No Options Details Correct Option
1 | 1DBI W19.SLo{[. 1Y
2 | SIDBI WY ALY SLULALY v
3 | NABARD ENETENEA ENENTER!
4 | ICICI VY RN Y RN




Q4 Gn*Cr=Sis

Gn*Cr=S 3eq

Question ID:
Marks 1 10091955
No Options Details Correct Option
1 | Growth rate qleger
2 | Actual growth rate diRdlds qleger
3 | Natural growth rate Sedl qleg &2 v
4 | Warranted growth rate v [ad qleger
Q.5 Currently Human Development Index is prepared using
Mol MHAUT Hietd (A5 s ofl Heeell dUR sAHi 1A B.
Question ID:
Marks 1 10091956
No Options Details Correct Option
1 | Combined mean (M8l Hes
2 | Harmonic mean Hdlel Hes
3 | Arithmetic mean JL[RL[ds Heys
4 | Geometric mean lH[ds Hes Ve
Q.6 The concept of ‘Super Multiplier’ indicates
Aduz] dls «) vl ¢21(d 8.
Question ID:
Marks 1 10091957
No Options Details Correct Option
1 | Employment multiplier AR 2L8LS
2 | Investment multiplier TR EEETEE)
3 | Combined effect of Multiplier and accelerator  J8LS Wl dl[ddtleiea] YYSd WU v
4 | Money multiplier ETETEIRSTEE
Q.7 If (K/L)a > ( K/L)b then,
% (KiL)a >(K/Lb €A KUR sel s
Question ID:
Marks 1 10091958
No Options Details Correct Option
1 | Country A is capital abundant A YSIUYRR & v
2 | Country A labour abundant A el BHUY
3 | Capital is dear in country A AcHIYsSlHldl &
4 | Labour is cheap in country A A QML YL




Q.8 Who amongst the following is/are associated with the theory of population ?

o1 Ao Miefl 5191 defletl Riegid) 219 Asn1Ae B 2

Question ID:
Marks 1 10091959
No Options Details Correct Option
1 | Edwin Cannan wS[del Seie
2 | TR Malthus FARNTERENICIEY]
3 | FW Notestein s, SURY, {2l
4 | All the above ¥ U4 dHIH v
Q.9 The asymmetric information theory was first put forwarded by
UHRY YIS o) Rtegict Aluen ¥ % 539,
Question ID:
Marks 1 10091960
No Options Details Correct Option
1 | Rober A Mundell 02 ¥ HSe
2 | George Akerlof U W5l v
3 | Paul Krugman NEIEERE]
4 | Oliver E Williamson Ul § [dlquHyet
Q.10 Which of the following is the third stage of Rostow’s stages of economic growth ?
oflActiiel]l 5] A2\l L(Es (A5l AlS) deiss) S 2
Question ID:
Marks 1 10091961
No Options Details Correct Option
1 | Traditional society YU ld dHLY
2 | Transitional phase Uslldslaedl doissl
3 | Take off stage BgYetall dudssl v
4 | Self sustaining stage AAIH] [As1™eAl dodssl
Q.11 In international trade, * Round Tripping’ is a method used to
WidRA¥IY AURHIL QUGS [2[Ua1 A Ugg[dell Gulal RN
Question ID:
Marks 1 10091962
No Options Details Correct Option
1 | boost foreign direct investment Ul [deell Sl UASL8L < dI) 31ydl
2 | boost foreign institutional investors [dell veULLd ASLRLSIR LA 2L 24 1Udl
3 | boost exports [eAs514 11 daL 2 [Ydl
4 | evade taxes 5zl eludl v




Q.12 The elasticity of demand for money according to ‘cash balance approach’

A5S YRid ol MM WA AR aA18LIefl Hidlefl Y& AUl

Question ID:
Marks 1 10091963
No Options Details Correct Option
1 | is equal to one s WRIMR Sl Y v
2 | is less than one uls sdl 1Yl sl 8§
3 | is more than one us sdldy eld 8
4 | is zero Qe 1Y &
Q.13 used the phrase “ money is a temporary abode of purchasing power”
"o 1Q] ] WIleQl(Sclef &AMl E61QL B L 2ot YYE «1l GUALL A syl edl
Question ID:
Marks 1 10091964
No Options Details Correct Option
1 | James Tobin sy 2lodlet
2 | William J Boumol [dldyy % o{lHd
3 | Irving Fisher o(ddl [s21R
4 | Milton Friedman [He2et §lSHe1 v
Q.14 Inada conditions are applicable to
gellSl ARl A |19, us B,
Question ID:
Marks 1 10091965
No Options Details Correct Option
1 | Investment function yslAslel (ady
2 | Consumption function durieL [y
3 | Production function Galleed [ddYy v
4 | Demand function HIL [dYy
Q.15 According to , “ Rent is a portion of the product which paid to the landlord for the use of original

and indestructible power of the soil “.

ol Hd WgAR « wHelotl YN d 1l (el 120] decilell duRLRlL Wed Hlelell Hifdsa Guaell ©

Question ID:
Marks 1 10091966
No Options Details Correct Option
1 | Adam Smith ¥{SY MY
2 | David Ricardo slas Rlslsl v
3 | Thomas Robert Malthus YlHY e Hiey
4 | Karl Marx sld HIsY




Q.16

Which of the following statement about normal profit is/are correct ?

o[ Aei 1] 53 (Atilel AMIRA oi5l WA WD B ?

Question ID:
Marks 1 10091967
No Options Details Correct Option
1 | Itis earned only in long run d §5c Gl ALOIHL % UIH LY €.
2 | Itis earned only in short run d §5cl 5L AUL0LHL % UIH L)L 9.
3 | Itis earned only in perfect competition d §5d YRl &AUSIO HIUWH LR Y
4 | ltis earned both in long run and short run d g5l dHo Gl ALOUHL WY LI 8 v
Q.17 Agricultural Prices Commission’ was renamed ‘Commission for Agricultural Costs and Prices’ in the
year
s elld Uy’ o aef] © 5N W e @l Uy A oL (Meled 5c 1M w41dd D.
Question ID:
Marks 1 10091968
No Options Details Correct Option
1 1985 1985 v
2 | 1986 1986
3 | 1987 1987
4 | 1988 1988
Q.18 The National Rural Health Mission was launched in the year
UYL A8l 1R1Y (HLled i) o] 21201 YA &dl.
Question ID:
Marks 1 10091969
No Options Details Correct Option
1 | 2001 2001
2 | 2003 2003
3 | 2005 2005 v
4 | 2007 2007




Q.19 A tax is called direct when

S16URL 52 UL QUIR 581y 2RLIR

Question ID:

Marks 1 10091970
No Options Details Correct Option
1 | Person can avoid tax payment [sd s MRdle 2lull s

2 | Only incidence falls upon the same person §5d 52 HUld % d [Ssd UL US

3 | Impact is shifted to another person SAUld ] R[S U WAS] sIA

4 | Impact and incidence fall upon the same Sl Ul 52 YUld S % [Sd U US v

person
Q.20 Which statement is not correct about the objectives of credit control ?
QU (ARl el chleddHi «{lA=t1Miell 53 [Atilel W siel] 2
Question ID:

Marks 1 10091971
No Options Details Correct Option

1 | Price stability el [ReURdl

2 | Economic growth v{([es [dsly

3 | Maximising social welfare HedH UIHL[S SRURL v

4 | Flow of credit to productive sectors of W UdLE o WAl BaUles &AL dr§ dludl

economy
Q.21 The relationship between Arithmetic mean, Geometric mean, and Harmonic mean can be described as
ALlBUds Heys, IARNTR Heds el AdlEl Heas datl Aoita 441 3d 2% 530 2sly
Question ID:

Marks 1 10091972

No Options Details Correct Option

1 | (GM)2=HM* AM (GM)2 = HM * AM v

2 | GM=AM+HM GM=AM+HM

3 | GM=AM GM= AM

4 | AM=GM - HM AM=GM - HM




Q.22 Goods and Services Tax (GST) originated in

HIE AlHLe 3 Aol URetl 52 (GST) oll WIRM_ Hi U] &dl.
Question ID:
Marks 1 10091973
No Options Details Correct Option
1 | USA TRENETEN
2 | England BREES
3 | Canada 59151 v
4 | Germany o Hell
Q.23 Which statement is not correct about the service sector of India ?
#IRdetl Adl AaAefl oileddui ol Astidiel] sy (Aellet W otef] ?
Question ID:
Marks 1 10091974
No Options Details Correct Option
1 | Service sector has the largest share in GDP ~ M[dell GDP Hl ddl &l3A«il [l dlell ay 8.
2 | Service sector has the largest share in AU U%=AHL Adl &Aell (Sl Al dy & v
employment generation
3 | Service sectors growth is higher than the SN &Aetl [d51Y €2 Sdl Adl &Aeil [dsldedl ¢
growth of agriculture sector
4 | Productivity per worker in service sector is the ddl &AHL URLS SIHEIR €16 GaUlesdl dlell dy ¢
highest
Q.24 Analysis of variance is carried out using
(udst o (dRNgl ol s3l sy .
Question ID:
Marks 1 10091975
No Options Details Correct Option
1 | ttest t Ul
2 | Ztest FARIETE]
3 | Ftest Fouleisl v
4 | c2test c2 WIlul




Q.25 P=AR=MR=AC=MC in long run is visible in

didPUAME (BHd= A= Al =3 wW.=4lw «fl Reld Hi L HA B,
Question ID:
Marks 1 10091976
No Options Details Correct Option
1 | Monopolistic competition O%1UY S SUSLY
2 | Oligopoly UASAAS ORI
3 | Monopoly o1l
4 | Perfect Competition Yyl &Us19 o
Q.26 The President of India appoints Finance Commission as per the provision of article of the
Constitution of India.
HIRdell olg R+l sey WAAR ARU[A AlRINUUAL (M-S 53 B.
Question ID:
Marks 1 10091977
No Options Details Correct Option
1 | 278 278
2 | 280 280 v
3 | 281 281
4 | 279 279
Q.27 The Coase theorem is based on the following assumption....
1A R oflAef] 8RR AIEIRA B.
Question ID:
Marks 1 10091978
No Options Details Correct Option
1 | Existence of transaction cost AdsedsS WY ¥[xdcd YUd &
2 | Zero transaction cost ddseds W gl eld 8§ v

3 | Transaction cost is positively related to the AdS ¢dS WY Galleel WY Al sSRIHS d Us
production cost

4 | Transaction cost is negatively related to the ~ AdSedS WA Blleel WY U1e SR IHS Ad As¢
production cost




Q.28 The rationale behind the Pigouvian fee is that the social cost of pollution to polluter is

Ulay(Qust 8l uleganedl diffs 3R 2 B8 3 UgNQle] AMHICss WA UENGl SR U2 Sl B,
Question ID:
Marks 1 10091979
No Options Details Correct Option
1 | More than private cost WLl WY Sl dy v
2 | Less than private cost WLl WL Sl 24LE
3 | Equal to private cost WLl WY %52
4 | Zero U
Q.29 The pattern of education in the National Education Policy 2020 is
AYIY (218191 «{l(c 20 20 WagAIR (A&l dRle 8.
Question ID:
Marks 1 10091980
No Options Details Correct Option
1 11+1+3 11+1+3
2 [ 10+2+3 10+2+3
3 | 5+4+3+3 5+4+3+3
4 | 5+3+3+4 5+3+3+4 v
Q.30 A sustained rise in the per capita real income of the people in a country over a long period of time
indicates
516 2eletl dlslofl HIIEls dlrdlds w1ds Hi didl HHY Yl Ad) Add gdlR] ¢21(d 8.
Question ID:
Marks 1 10091981
No Options Details Correct Option
1 | Economic development vL[Us [dslA
2 | Economic growth vL[Us gfeg v
3 | Economic progress v{1[els Walld
4 | Sustainable development Add [dslyd
Q.31 The principle of maximum social advantage is concerned with
HedH ULHLES dl6t ofl [Regid —-- A1 oid d1d 8.
Question ID:
Marks 1 10091982
No Options Details Correct Option
1 | Taxation 5431
2 | Public expenditure e WY
3 | Public debt R &g
4 | Taxation and public expenditure 5AR el ¥lE WY v




Q.32 The burden of public debt is defined as

o1& 2l ofl 6lloy oflA Yoyol vl Ad 53] 2AsIY

Question ID:
Marks 1 10091983
No Options Details Correct Option
1 | Public debt , GDP A& Eq |, BSII v
2 | GDP+ Public debt 2)SIUl + &R &9
3 | GDP - Public debt 2)SIUl - s1e &g
4 | GDP , Public debt %)SIUl | osleR &9
Q.33 Which method is used to protect domestic industries ?
L[5 GHUNeAL 8181 HI2 58 Usg(d GUAIMI AdIHi 1A B ?
Question ID:
Marks 1 10091984
No Options Details Correct Option
1 | Exchange control CICITENET]
2 | Quota sdlel
3 | Tariff on imports WYLl UR wSld v
4 | Import subsidy VALl UR A yls]
Q.34 Who has developed input-output analysis ?
ULt - Gelled (ARl Slell G2 ([AsUladiHiwide B ?
Question ID:
Marks 1 10091985
No Options Details Correct Option
1 | R Nurkse VIR, 5y
2 | Samuelson AR E Yl
3 | W.W Leontief SWR, SWEY [d¥]-els v
4 | Hawkins - Simon Sllsed - ARIH-A
Q.35 Production function indicates relationship between inputs and outputs
Galleel (AR Gultatoll Altell A Geulesd YHIQL del) dojy e21ld B,
Question ID:
Marks 1 10091986
No Options Details Correct Option
1 | Social L[S
2 | Scientific AlH L[S
3 | Technical dsillsis
4 | Technical 2slelsd v




Q.36 Environmental quality is considered as a public goods because it contains quality of

U laely fRiddl 2 & dig & 51k 3 A ofl 2l 214 B.
Question ID:
Marks 1 10091987
No Options Details Correct Option
1 | Excludability dlyddl
2 | Rivalrous |
3 | Non excludability and non rivalrousness [t Rl At [defub] v
4 | Divisibility [deiloRddl
Q.37 is associated with the Endogenous Growth Model.
W vidd glegell vuld A18 As01dd 8.
Question ID:
Marks 1 10091988
No Options Details Correct Option
1 | Paul Romer ule JAHR v
2 | Joseph Schumpeter olus Huler
3 | P A Samuelson Ul ARyEyed
4 | JR Hicks % IR [esu
Q.38 The law of increasing state activities was given by
sdefl At oscil ug(t 203\el] (uu GRUBMMUM 11de B,
Question ID:
Marks 1 10091989
No Options Details Correct Option
1 | Peacock - Wiseman ulsls digosHe
2 | Hugh Dalton &3\ Sl
3 | Adolf Wagner ¥{sles dafeR v
4 | Richard A Musgrave RULS A HWId
Q.39 According to ,“Bad money tends to drive out good money from the circulation”.
WAUR " WA 1] AR <11l Y4 el sisl sl B."
Question ID:
Marks 1 10091990
No Options Details Correct Option
1 | Gresham’s Law ALUIH <l [«UH v
2 | Goodheart’'s Law JSé&leatl [«+4H
3 | Law of Psychological consumption AUz (Lol Helldstiles [«dH
4 | Monetary Law o[RS [y




Q.40

is associated with the general equilibrium analysis.

2] AL AHqEl [aRNel 418 50134 B,

Question ID:
Marks 1 10091991
No Options Details Correct Option
1 | Alfred Marshal V||E5S Hl2ld
2 | Leontief l[qul-2ls
3 | J R Hicks % ¥R [esU
4 | Leon Walras (el dle ™ v
Q.41 Cross elasticity of price of ghee and demand of edible oil is
¢l ofl (5Ud W vitade(l Hidlefl uld Yt A0l S URS!
Question ID:
Marks 1 10091992
No Options Details Correct Option
1 Infinite Wold
2 | Positive ESRRIHS v
3 | Negative as5RRlHS
4 | Zero L
Q.42 The concept of money illusion was first given by
o1QlL(ce4H «fl vle Aluen GRLHMNAM 11dg B,
Question ID:
Marks 1 10091993
No Options Details Correct Option
1 | Irving Fisher ©[dal [s21R v
2 | JMKeynes % MY, 56
3 | Milton Friedman [Heee slsHe
4 | Robertson R VEETE]
Q.43 explains relationship between tax revenue and tax rates.
50R1eAl s Wa 520RUs1l €2 dRAel] oiy GRS 52Ul 419 B,
Question ID:
Marks 1 10091994
No Options Details Correct Option
1 | Offer curve W5 dSs
2 | Laffer curve qlsr ds v
3 | Philips curve [slawlds
4 | Lorenz curve dle ds




Q.44 Which costs declines with the increase in output ?
GellestHi aui) adlefl u12 sy WA €2 § 2
Question ID:
Marks 1 10091995
No Options Details Correct Option
1 | Fixed cost &R Wy
2 | Variable cost R WY
3 | Average fixed cost ARALL RU WY v
4 | Average variable cost URUA AR WY
Q.45 Who has initiated economic planning in India ?
GLIRAAH] 1S WA o) UL Sleil Gl 5IM w41dd ?
Question ID:
Marks 1 10091996
No Options Details Correct Option
1 | M'S Swaminathan WH. AU, Al
2 | Jawaharlal Nehru oA LEELE oS>
3 | M Visvesvaraya WH. [daladl v
4 | Vallabhbhai Patel ded™MLD Ued
Q.46 Index number given by is an ideal index number.
G113 SCAMT w1Ae A5 (s W 12l YAS His B.
Question ID:
Marks 1 10091997
No Options Details Correct Option
1 | Fisher [s21R v
2 | Laspeyre qldAR
3 | Bowley 1G4l
4 | Marshall-Edgeworth HlRld - Ay el
Q.47 In IS-LM model given by Hicks and Hansen, there is simultaneous equilibrium between
(654 WMol Slodet IR Y SAMI 194 1S-LM H13dui A2 YHidR A4l Fldl HA B.
Question ID:
Marks 1 10091998
No Options Details Correct Option
1 | Level of income and rate of interest WA So] UHIRL vel |[ofER v
2 | Level of income and consumption WA Se) UHLRL el dURILL
3 | Level of income and savings WA 5] UHLBL el 6fAcd
4 | Level of income and demand VLA Se] UHLRL el HIL el] [AH




Q.48 In Indian Agriculture, use of high yielding variety initiated in the year

HRAME SN A (ARl ay Vel Mudl dedl GuAlaL el 21 24 B,
Question ID:
Marks 1 10091999
No Options Details Correct Option
1 [ 1963 1963
2 | 1964 1964
3 | 1965 1965
4 | 1966 1966 v
Q.49 The theory of Critical Minimum Efforts was propounded by
(c1alfus dgdu wlY il vale GIRLRY SAMI #1949 8.
Question ID:
Marks 1 10092000
No Options Details Correct Option
1 | Leibenstein QU2 |8l v
2 | R Nurkse WIR sy
3 | Hirschman ENHe|
4 | Lewis qdly
Q.50 According to , “ Institutions plays vital role in the economic development.”
---------- ol Hol WU, “ WIS (A51UeAl UlEAMI A1) (RIS efHs] eosd 8.7
Question ID:
Marks 1 10092001
No Options Details Correct Option
1 | Rober Solow Ao ldl
2 | Douglas North SOE Y <&l v
3 | David Ricardo slas :lstsl
4 | Karl Marx sld Hisy
Q.51 Which type of research aims at immediate application?
SULUSIReL AN dstell &q dlcsL(as GUALL Sqlell B7?
Question ID:
Marks 1 10092002
No Options Details Correct Option
1 | Pure Research Qg Uelltel
2 | Fundamental Research He{d delldet
3 | Applied Research ldsld YLl v
4 | Conceptual Research UGS HQllted




Q.52 The approach which believes in objective reality is:

adaefl dirdldsdiMi [Asdly sl A[611H 241 B:

Question ID:
Marks 1 10092003
No Options Details Correct Option
1 | Interpretivist weeeedd el
2 | Constructivism RYsldle
3 | Positivism ESRIlHSdlL v
4 | Phenomenology gleallla
Q.53 Post-positivism accepts that reality is:
GelR-USRIAHSAL(Post Positivism) A dizd(dsdla 21512 8 5
Question ID:
Marks 1 10092004
No Options Details Correct Option
1 | Fixed and measurable (212 Aol HIUL 2SI dg
2 | Subjective and contextual Y [sAde]] Aol HeHIHS ‘/
3 | Always predictable SHRIL ¥eHl[eld
4 | Limited to numbers Au (] Yol Hylled
Q.54 Which of the following is a qualitative research method?
o[ Aot 11 ied] 56 RIS ANt Usg[d B?
Question ID:
Marks 1 10092005
No Options Details Correct Option
1 | Experimental NS
2 | Survey RCEE]
3 | Case Study 54 Sl v
4 | Correlation HedHy
Q.55 Experimental research involves:
UIRIPALS dQllb-Aui 21Rd 8:
Question ID:
Marks 1 10092006
No Options Details Correct Option
1 | Only observation §5d vdg|sed
2 | Manipulation and control of variables UGl YA W [4AAQ) v
3 | Content analysis ALHAL [Nl
4 | Interpretation of documents exclldolo] A Uel el




Q.56 Which research method is used to study past events?

#5105l eleet o] WEALA 5L HIR 58 AR bed Ueg[dell GUALIL AR B?

Question ID:
Marks 1 10092007
No Options Details Correct Option
1 | Descriptive dRlellcHS
2 | Historical v[dsllus v
3 | Analytical [CEXNEITE
4 | Experimental LdLS
Q.57 Which step follows the review of literature?
Allecusfl uxletl uedl 53 uag w41d 82
Question ID:
Marks 1 10092008
No Options Details Correct Option
1 | Data Collection Sel HAS Hlesil [dsaul
2 | Hypothesis formulation Yy [RBLL WUl v
3 | Data Analysis sel [dsNel
4 | Research Design H2lldet [Sa1eed
Q.58 APA and MLA are
APA s MLA 9:
Question ID:
Marks 1 10092009
No Options Details Correct Option
1 | Data analysis tools Sel [dsdNBL Hltell Hieeil [dseu]
2 | Research methods Al Ueg[dnl
3 | Referencing styles Aeel d[n] v
4 | ICT tools ICT dltleil
Q.59 Which tool helps in reference management?
Aeel AU [UAH 53 Hltdel Hee 53 B?
Question ID:
Marks 1 10092010
No Options Details Correct Option
1 | SPSS SPSS
2 | R R
3 | Zotero el v
4 | Tableau 2]




Q.60 Which of the following is a breach of research ethics?

ol Aet il 53 A2t ofl(d2llie] Gedelel B7?

Question ID:
Marks 1 10092011
No Options Details Correct Option
1 | Using secondary data QL Seledl Gualal
2 | Getting informed consent RIS YH[d Hadd]
3 | Fabricating data Sel weilddl v
4 | Reviewing literature AlleueAl qHlal sl
Q.61 Which research uses numerical data?
S| ¥QltAM AuALH s HLlEdlAl GUAlL 5 IM w19 B?
Question ID:
Marks 1 10092012
No Options Details Correct Option
1 | Qualitative JRILHS Hle [dseul
2 | Phenomenological eleoilgell
3 | Narrative dRlellcHS
4 | Quantitative HIALHS v
Q.62 A review of literature is necessary to:
ULlScuedl uHlail 241 HIR %3] B:
Question ID:
Marks 1 10092013
No Options Details Correct Option
1 | Design the research methodology MUl Usgld (Sl 521
2 | Define objectives Geul AL $:dl
3 | Avoid duplication shasel eladl
4 | All of the above GUUsd vyl v
Q.63 Which of the following is an example of ICT in research?
o[ Aot 11iefl 53 AAUAUI ICT o Gele B7?
Question ID:
Marks 1 10092014
No Options Details Correct Option
1 | SPSS SPSS
2 | MS Word MS Word
3 | Mendeley Hosd]
4 | All of the above GURASd Kyl v




Q.64 Hypothesis is

ydaRral A 8:
Question ID:
Marks 1 10092015
No Options Details Correct Option
1 | A statement of facts &slsdlef [«ld e
2 | Atentative solution s SIHYEIGB G54 v
3 | A data collection tool Sel YAs Alded
4 | Afinal conclusion v[dy [dsy
Q.65 Research is considered scientific when it is:
Aelleelal Astilets dA8lami 1419 B 2R a:
Question ID:
Marks 1 10092016
No Options Details Correct Option
1 | Based on guesswork Ve el Y A LHL[Rd
2 | Based on assumptions YRR U A 1HLRd
3 | Systematic and logical dRUd A dLss v
4 | Based on beliefs Hlold ] UR ALY LRl
Q.66 Which of the following is not a referencing style?
o1 Aet 1M iel]l 53 Aeef Al 1efl?
Question ID:
Marks 1 10092017
No Options Details Correct Option
1 | APA APA
2 | MLA MLA
3 | HTML HTML v
4 | Chicago [2Ls121l
Q.67 A research that leads to new theories is called:
A5 A2t B oAdl Riegid] ds el 21U B Aol s&diMi 41d &
Question ID:
Marks 1 10092018
No Options Details Correct Option
1 | Applied Research WS [RuA
2 | Fundamental Research e d delldel v
3 | Survey Research Ud vLulYe
4 | Quantitative Research HIALHS vellted




Q.68 Plagiarism is an issue related to:
AlleAT] A wlst1ef] Aoileid Hel B:
Question ID:
Marks 1 10092019
No Options Details Correct Option
1 ICT tools ICT dldeil
2 | Data Collection selyAs
3 | Research Ethics N ENCEREIIGEIE v
4 | Data Interpretation Sel yeeee
Q.69 Which is used for data analysis in quantitative research?
HIALHS QA 32l (ANl HIR «{lAetl Higdl slell GuloL &l?
Question ID:
Marks 1 10092020
No Options Details Correct Option
1 | SPSS SPSS v
2 | NVivo NVivo
3 | Atlas.ti Atlas.ti
4 | Grounded theory ALBSS (YR
Q.70 Which tool is used in qualitative research for coding textual data?
eseud 2l s1[SoL HI JRLIHS At s Altetell GUALL YR B?
Question ID:
Marks 1 10092021
No Options Details Correct Option
1 | Excel PR CEREETICEEN
2 | SPSS SPSS
3 | NVivo NVivo v
4 | R R
Q.71 Ethics in research includes all except:
el ol (doraui 1 Astl RialRetl oelell ULl R &
Question ID:
Marks 1 10092022
No Options Details Correct Option
1 | Informed consent RIS UH[d
2 | Data fabrication Sel Weilde v
3 | Honesty in reporting RulleaHl viHL LsdL
4 | Plagiarism prevention AlleRURL [d10l




Q.72 ICT tools do not help in

ICT Ultlell Wi Hee Sl «tedl:

Question ID:
Marks 1 10092023
No Options Details Correct Option
1 | Data analysis Sel [asNel
2 | Reference generation Ae@] %ot
3 | Hypothesis writing TCCIRIETCINE] v
4 | Literature review Allss dylatl
Q.73 The final step in the research process is:
deltel WlsAHi 2ildH uag 8:
Question ID:
Marks 1 10092024
No Options Details Correct Option
1 | Hypothesis yd Rl
2 | Interpretation YDEEX
3 | Data Analysis Sel [dsNgl
4 | Report Writing wedle qUe v
Q.74 The research report must include:
dQllbel W& w1 2UNe el BFA:
Question ID:
Marks 1 10092025
No Options Details Correct Option
1 | Only conclusions §5c dREL
2 | Raw data 51yl Sel
3 | Abstract, findings, references ARILL AR, Yedl v
4 | Literature review only §5d dlled yHl&ll
Q.75 Which of the following is a primary source of data?
A=l sA) Selell wiems Adld 872
Question ID:
Marks 1 10092026
No Options Details Correct Option
1 | Textbook UlsdYrds
2 | Research article H2llyed dul
3 | Survey dd v
4 | Newspaper WG R




Q.76

Data collected from government websites is an example of:

USR] AuAIe2U URel] As[Ad sl 14196 Sl 2o GelsW B

Question ID:
Marks 1 10092027
No Options Details Correct Option
1 | Primary data wld[Hs Sel Hleatl [dseul
2 | Secondary data JfleL sel v
3 | Raw data 51yl sel
4 | Qualitative data JRLLHS Sel
Q.77 Quantitative data refers to:
sdl(2(2d 32lsil Aeef A B:
Question ID:
Marks 1 10092028
No Options Details Correct Option
1 | Descriptions dRlel Hleell [aseyl
2 | Opinions Hdcl
3 | Numbers Au x| v
4 | Ideas (AUl
Q.78 Line charts are ideal for showing:
4L UL 9 wdladl HIR w1eel B:
Question ID:
Marks 1 10092029
No Options Details Correct Option
1 | Comparison AWML Heell [dseyl
2 | Trends over time AHY %dl darll v
3 | Distribution CRETE]
4 | Percentages eslaRl
Q.79 Which of the following is not a graphical representation?
1A=l 53 ALl55e Uld[ctleica 1efl?
Question ID:
Marks 1 10092030
No Options Details Correct Option
1 | Histogram [S1AUM HIeell [aseul
2 | Pie chart ule ule
3 | Table sles
4 | Interview Yo v




Q.80 The process of organizing data for analysis is known as:

(asaNeL HI2 32l dlsddlefl UlsAlel - dluWdlH] w1d &

Question ID:
Marks 1 10092031
No Options Details Correct Option
1 | Mapping NIE
2 | Classification SRR v
3 | Distribution [ddRal
4 | Governance 2llds]
Q.81 Data interpretation means:
UL(Ed] welel2eatel] wel B
Question ID:
Marks 1 10092032
No Options Details Correct Option
1 | Data entry Hilsdledl ue2]
2 | Understanding data HlledlA Y-l v
3 | Collecting data Hilsdl x1slAd s:dl
4 | Sorting data Hiledl Yle srdl
Q.82 Data represented in rows and columns is called:
&1 WA AU Y 52034 HilSdlA s&dlMi +1d B
Question ID:
Marks 1 10092033
No Options Details Correct Option
1 | Line chart dleye Yl
2 | Table sl®S v
3 | Piechart Ul Yle
4 | Map o152l
Q.83 Which of the following is best for time-series analysis?
UHY-AQ ([qRwel Ui «{lA- uiell 53 A% 82
Question ID:
Marks 1 10092034
No Options Details Correct Option
1 | Barchart WIR YL
2 | Pie chart Ul dle
3 | Line chart dloel Ale v
4 | Table sles




Q.84

Which of the following is most suitable for textual data?

25 uid 32l HI2 oflAeiHie]] sy Alell Aoy B

Question ID:
Marks 1 10092035
No Options Details Correct Option
1 | Histogram [srlAM
2 | NVivo NVivo v
3 | SPSS SPSS
4 | Tableau 2]
Q.85 Bar chart is used for:
IR Ulell GUANIL AL HIR 1Y B:
Question ID:
Marks 1 10092036
No Options Details Correct Option
1 | Frequency w1g[d
2 | Ratio JRUR
3 | Comparison AW HR v
4 | Growth qleg
Q.86 Choose the word that is closest in meaning to: “Benevolent”
"Benevolent™ 2l6¢il el 1% 5ol 22l Uit 530
Question ID:
Marks 1 10092037
No Options Details Correct Option
1 | Cruel &2
2 | Kind eld] v
3 | Lazy ALY
4 | Harsh 5612
Q.87 Fill in the blank: "Neither the teacher nor the students present."
"Neither the teacher nor the students present."- WIE 2| Y|
Question ID:
Marks 1 10092038
No Options Details Correct Option
1 | was was
2 | were were v
3 | is is
4 | has been has been




Q.88 Choose the correct synonym of “Obsolete”

“Obsolete”il U\ YHlt1e] ue 53

Question ID:
Marks 1 10092039
No Options Details Correct Option
1 | Modern LY [eAs
2 | Current ddH el
3 | Outdated %l v
4 | Popular alsluy
Q.89 Identify the error: "Each of the boys have completed the task."
"Each of the boys have completed the task." dlsUAH[ &€ wWlau)
Question ID:
Marks 1 10092040
No Options Details Correct Option
1 Each Each
2 | of the boys of the boys
3 | have have v
4 | the task the task
Q.90 Choose the correct sentence in indirect speech:
Indirect Speach” o} A19Y d 54 Ut 52
Question ID:
Marks 1 10092041
No Options Details Correct Option
1 | He said, “He is going to the market.” He said, “He is going to the market.”
2 | He said that he is going to the market. He said that he is going to the market.
3 | He said that he was going to the market. He said that he was going to the market. v
4 | He said that he goes to the market. He said that he goes to the market.
Q.91 Find the nextterm: A, C, F, J, O, ?
wPLH] 2l0¢ 2EL: A, C, F, J, O, ?
Question ID:
Marks 1 10092042
No Options Details Correct Option
118 S
2| T T
3 |U U v
4 |V \




Q.92 If ‘CAT’ is coded as ‘3120’, what is the code for ‘DOG’?

%\ ‘CAT o ‘3120’ d[3 515 5dIHi w19, dl ‘DOG’ HI2 515 & B?

Question ID:
Marks 1 10092043
No Options Details Correct Option
1 | 4157 4157 v
2 | 4177 4177
3 | 4158 4158
4 | 5147 5147
Q.93 The simple interest on 1,200 at 10% per annum for 2 years is:
1,200 U2 2 AN HI[2 dIs 10% «ll £3 ULE Ul 3eq 2l ?
Question ID:
Marks 1 10092044
No Options Details Correct Option
1 | 3240 %240 v
2 | %200 %200
3 | %220 3220
4 | %250 %250
Q.94 Statement: All engineers are hardworking. Ram is an engineer. Conclusion: Ram is hardworking. -This is
an example of:
(ellol: (itl 9% Hold 8. AH W5 8RB, [1dsN: AH HSeld B. -1l 2Ule] GelsAA B:
Question ID:
Marks 1 10092045
No Options Details Correct Option
1 | Inductive reasoning URs dS
2 | Deductive reasoning WefHlLleld dS v
3 | Analogical reasoning ETERNCEERE
4 | Abductive reasoning voisseld ds
Q.95 Find the odd one out:
el [Ase Urie 520
Question ID:
Marks 1 10092046
No Options Details Correct Option
1 | Apple UE%
2 | Orange ETEE
3 | Banana 5011
4 | Carrot IR v




Q.96 What does "URL" stand for in internet terminology?

go2e URMINIH] "URL" <1l 24¢] 9] 87

Question ID:
Marks 1 10092047
No Options Details Correct Option
1 | Uniform Resource Locator Ylasly RUlY dlseR v
2 | Universal Record Link Y[ddd 2sls [ds
3 | Unique Resource Label Y[els RUIY dold
4 | Uniform Retrieval Line YloislH 2A2lad L.l
Q.97 Which of these is not a web browser?
4l 53 Aot allGAR «1efl?
Question ID:
Marks 1 10092048
No Options Details Correct Option
1 | Google Chrome Jdld slH
2 | Mozilla Firefox Hllnel slAs1sU
3 | Internet Explorer BoRele WsHWERR
4 | Adobe Reader MR EI) Ve
Q.98 Which of the following is not a storage device?
o1 Aei el 53 @13 (Sl «ieil?
Question ID:
Marks 1 10092049
No Options Details Correct Option
1 | Hard Disk LS (S
2 | RAM M
3 [ bvD sldlsl
4 | Scanner el v
Q.99 Which software is used to create spreadsheets?
Aselled ulelladl Ui sl Mlsedel GUAldL Y1y B?
Question ID:
Marks 1 10092050
No Options Details Correct Option
1 | MS Word MS dS
2 | MS Excel YERAERE v
3 | MS PowerPoint MS Ulduleyee
4 | Adobe Photoshop ¥Sly sleletlu




Q.100 What does ‘http’ stand for?

http’ <\ w4l 9} 8?7

Question ID:
Marks 1 10092051
No Options Details Correct Option
1 | Hyper Text Transfer Protocol ElOUR 25 2l s Ulelsld v
2 | High Text Transmission Protocol &l ese 2le[Hal ulelsld
3 | Hyperlink and Text Transfer Program ELOURAES el 2522 2l S ULAIH
4 | None of the above GURlsdH1Y] 519 el




